-
1

1,059
1,929

C= 65

86

1,059
1,778

22,827

3,228

A= 18,798
A=2,734

C= 2,600
(C=349

588

87

3,441

541

798

C= 715

26

48

5,955

C= 3,380

26

182

2,367

57%

63%

S57%

60%

100%

11




18

19

12




: .?«W‘?’iﬂ
-tﬂ-”-« mmmew
J?'l"-—--t

rrﬂ_*:f

17
18
19
20
22

21

13




Ll

Ll

Ll

Ll

14



co2

| |

[ coz ]
8283 / 17157807 / - 17149524 /

[ ] NO2

NO2

30 / 11232 / - 1,1202 /

[ ] SPM

[ SPM ]
02 / 981 / - 979 /

O

O

| |

| |

O

O

n 1km

] 6m

O

O

15




500 / 1,000 /12h
500 /

500 /

1,000 /12h
500 /12h 100 /
40 /
500 /

1.0

O

16




o0 mOd

O 0o

16ha

100

(300
5ha

NN

DID

25t

ISO

1.5km/km2

)

/

20km/h

10,000

N O

~N

17




2007

2012
15
59.6 1.1 60.7
56.7 11 57.8
59.6 05 60.0
40
6.5
112.7
40 50
1.88

18




/7))

11
+ o+
40
*
2.7 /kmx
40
C +
B/C

13,600 /

L= 1.059 km
60 km/h
5,955

661.95 +

1.059 km

5671.43

46.07 +

11270.39

42

W=25.0m

15

729,
729,
729,

101,
101,
101,

19,
19,
19,

5956.55

6002.63

19

18

15

236.42
898.36
898.36 -

x 365
536.65
554.96
554.96 -

x
173.42
175.90
175.90 -

18.31 +

x 365

46.07

5956.55

729,236.42

101,536.65

19,173.42

2.47
11270.39

6002.63

661.95

18.31

2.47

682.73



